EARAZROREIERT — 2 N—XBISY —F 20145118138 (/K) 15[EF516H

m Aiba#ARiE B1 7% —H% \ (%&] = \ (arsml — | 4 (%) 12000 &
[A&4£] 1 7% :500,000  ~ 23#&:100,000  ~ 33#&:75000 M ~ 43#%:50,0008”  53&:25,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N T YY) EfBE— 2. - . — AL (AbimE)
i 4| N2 T=Ny Y3 B4 s 1(1_2)7 10-7  [35.7 2 (i(:g) s I{)gtﬁ%
R:F15>8) B:TU R N T s
= RTINS ft 5 | MFfAd 1:12.8 1-1 36.8| — 3 466 | ZWFRI (AtimE)
2 7 FTIL KRG Y 53.0 (3/4) o) RBERE
R:T7HIYFLIY BA-TTvT BT 7 —L4
_ 4 5 | RIJEER 1:13.2 1-1 37.2| — 1 484 | /INEE (dtimiE)
3156 IW—F T 57.0 2 +8) INEFIEER =
R:v¥/ Ny ThHY B:T7ITI2H RE77—L4
o4 | BIE 1:13.3 4-3 37.1| — 4 520 | RERIE (AtiEE)
4|81 7TATATA L 5.0 (7€) o |mEREL
A:Big Brown £: 7> KET7T7H5 1> AR
= S > 5 | BHF 1:13.4 8-7 36.6 — 8 462 | EIWWFEI (bimiE)
507|107V Y2 R (3/4) -2 | @ 2797
LY LFM4N—bt B:TFNIYRT Ty =— T7=—ENTy7—L
0s R4 :13. = . - FEE8 (dtieE
6|8|5|7AYV/NZa—b K (i i A T .
RS HEAZRT -7 B:wgdfAvy @2 e
; 47 | KEAE 1:13.6 6-6 37.1| — 11 446 | EARIHEE (tiEE)
7 gleFghrAIY> 55.0 (7E) (-g) | (B) BRYUS
LA 3949 Ry BEa—-TV— EEE el
= > 5 | HERE 1:13.7 8-7 36.9| — 5 ZEEE (EE)
sEBl3|V>7—-2a7 77| 50 (1/2) 5_420) P .
RR—NFIAYLF— B:TYL I TI I 4
35 s (13, - 1 - HNBEA G
ol7lo| a7 EISN HTRD o L ° o memE
R:ISUNTRTAY BLFILF Pk e ]
= < 47 | AMEES 1:13.9 12-11 [36.2| — 9 578 | EARMRE (tiEE)
10 2 B 7L 55.0 (3/4) (+6) f EIEsE =
R:ByTELRVF— BNCTFLHIT =FHE
. 4t 6 | TKEKED 1:14.4 7-10 37.8| — 12 | 518 |fEBEXEBR (dtiEdE)
11)8|12 T7L7R-2X 53.0 @ 1/2) Loy |EHEE
LY -1 TFTA-X BO-X3IF EH KB
— L it 4 | BT 1:15.6 1-4 39.6| — 10 | 450 |REREL (AtiEE)
12 1[1|¥¥=>Y>x 53.0 ® o | IEER
R:7H¥4F2>a)K B:v~v=>hky FOY EH {iBh
@ 1—F—@&BIEf
13—7—
23—7F—
30—7+— (1,6,7),11,5,8,12,(3,10) ,4,9,2
43—F— (6,7),11,(1,5),8,(3,4,10),12, (2,9)
[ RN
B OB 4 380M 714K 4-7 380M e & 4-6 1,240 &R 4-6-7 670M
% B 4 140 4-6 240M | | F§ = 4-7 1,490/ | | 3=& 4-7-6 7,010M
7 180M4 6-7 190M B H 4-7 2,770
6 130M4

ABICOVWTRDTEEERROODE. TR LIV,



